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che 1 ol WA S Pol7h1 Q) AR

QLN i}

o tiste] /DAB = x, £/ADB =y, /DEC = z
y
gt o, o 5 S 82 A2

@ siny =sinz @ cosy = cosz
@ tanx =tanz @ cosz=BD

® tanx = CE




4. o= S e gl dia ¥R F2 A 12W?

@ sin20° > sin49° @ sin31° > cos31°
@ sin20° =cos30° @ sin45° > cos45°

® sin23° < cos23°



Ch FolT BE W x4y o] S Fou?

2Zte sin cos tan
14° 0.2419 0.9703 0,2493
15° 0.2588 0.9859 0,2679
16° 0.2766 0,9613 0,2867
sinx = 0.2766 , tany = 0.2493
® 28° @ 29° ® 30° @ 31° ® 32°




o2 ™I 2ol A = 90° 1 A Z4tZrg o] A A oA "ldHe] yidl
Z=Aol vrSs H 2t 5t AB = 2v3em , AC = V5em , /BAH =
x, /CAH =y & ], sin? x — 2sin’y o] 722




o2 199 FSHA A LAGE = x 2} D -4
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WAHSH= AABC oA BC=3 ¢ o], sinA A
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9. o= EIA F2 A BE A A2

@ sin%30° + cos?60° =1
O sin30° =cos30°x tan30°
© sin30° +sin60° = sin90°

o 1
@ tan30° = m

ORON®) © 0,0 ONGNC)
@ 9,6, ® 06,6



10. t©hS 139] AABC oA AHZtH] 9] EE BT AABC o] Ed9] dolE

“FobHA?
10
34°
A

Ze sin cos tan

54° | 0.8090 0.5878 1.8764

55° 0.8192 0.5736 1.4281

56° 0.8290 0.5592 1.4826
@ 5.592 @ 8.29 3 13.882
@ 23.882 ® 29.107



sin AcosA + sin A
cosZ A + cos A

11. tanA =3 & o, o] Ft= ohd?

) ) ®1 @ 3 ® V3
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12, o 2983 2L .0 = 90° A A7 A

ABC o4 CDLAB, DELAC ¥ W], AADE 9]
sol=?
D E
{7 60°
A )
B~~- 8em--~ C
O 18cm? @ 18 V2cm? ® 18.5cm?

@ 18 V3cm? ® 18 V6cm?



13.

tan(A — 15°) = 1 ©]4l, x? — 2xtan A — 3(tan A)?> = 0 9]
TEFH? (00 < A <90°)

@ 3+v3, 243 @ -3, 3V3 ® 23
@ 23, V3 ® -3, -3v3

=
e

1
.

tlo



14. o3 84 FeHA e ol Hol=a
olt}. /BHF = /x4 o, cos x 2] 4127 (H,
BH= ASHA <] dizhdoltt)
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15. \/(COSA —sinA)? + \/(SinA +cosA)? = V2 & o, tanA & gr2?
(2, 0°<A<45°)

@2v2 @ V2 ® V3 @ 1 ® 0



